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Find the next three terms for the

arithmetic sequence.

2 1 12
3" 3" 37
444
A
051

Relate arithmetic sequences to linear functions 1

Asloal) Ldlmall 2060 A3NED gaal) aa g



Find the next three terms for the

geometric sequence.

2 2 2
5’ 25 125"
2 2 2
O " 250° 750’ 1500
2 2 2
O 625’ 1250 2500
2 2 2
O - r !_
625’3125’ 15625
2 2 2
O _

625’ 3125’ 15625

Relate geometric sequences to exponential functions 1

owtigl) ATl 006N A5G agaal) sl

2 2 2

5 25" 125"
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—-24

6

Find the third term of the recursively

defined sequence

an = (_Z)an—l: a, = 3 where n > 2.

Investigate several different types of sequences 1

O 13) A8l Adlial) 5 G aal) aagl

Mm=>2déaa,=39a,=(-2)a, 4



Which of the following sequences are

convergent?
5

10!1
n®+4
3+n
(=2)"

2

=n’-3n+1

Investigate several different types of sequences 1

edu)\&5 olisf i) (e (o



Find sum > . 5 (—)

1
10"

Use sigma notation to represent and calculate sums of series1

1

io15 (1gn) eee 2



Which of the graphs represents

a, =9 —2n7?
ap
'8'
ol | 2 6 | 8n
—8
|
—16
Y
I24 n
|
18 |
| r
| 5]
12
'y by
-6
Of | 2 | 4 6 | 8n
I Aa,
16
|
|
12 pt
[ ]
8 )
L ]
4 s
[ ]
O 2 4 | 6 | 8n
Aa,
,8 “
Py
-4
, ——_—
0 2 4 & 6 8n
s
_4 °
\ ¢

Investigate several different types of sequences 1

fa, =9 — 2n Jid Libad) e (e ol



Find the nth term and arithmetic means for arithmetic sequences. 1

Write an equation for the nth term dalead) Al i aad) dlalea i)

for the arithmetic sequence. .31,17,3,...

31,17,3,...
a, =14n a
a, =14n+ 17 b
a,=14n+5 c

a, =—14n+45 d



70

83

77

89

Find the 15th term of the
arithmetic sequence

—1,5,11,17, ... where n=1.

Find the nth term and arithmetic means for arithmetic sequences 11

Luleal) LMl e Lualdl) aal) aagl
n>1 s —1,511,17, ..



Find the nth term and geometric means for geometric sequences 1

Find the geometric means in the datigh dalmiall A daaigh Bl aagl

sequence 0.5, | ,128. .05, ,128
+1,8,+64 a
+2,8,+32 b
+1,4,+6 c

+4,16,1+32 d



2188

1891

12288

2916

Find sum Y7 _, 4(=3)* L.

o1 4(=3)FT gaana nag

Find sums of geometric series 1



@)

‘gsane g Y

No sum exists.

2
3

54

35

35

54

Find the sum of the infinite series,

e . 18 12 8
if it exists —— 4+ — — - .
2 + 7 7+...

2325 () ailgid) dlodisial) ggana aag

Find sums of infinite geometric series 1



Write repeating decimals as fractions 1

Write 0.21 as a fraction. (e S Biga B 0,21 sl

21
100

U1 =



n

a'ﬂ.

= (an—l)z + 1,(11 =4

=ap1— 1r a = 4

= (an—l)g - 1,(11 =4

=(ap,1)*—1a;=4

Write a recursive formula for the

sequence 4,15,224,50,175, ...

ALl 5 s )
.4,15,224,50,175,...

Recognize and use special sequences 1



Recognize recursive functions 1

Find the first three iterates x;, x,, X33 X2.9 X1 As¥) LAY cypfsal asf

and x; of f(x) = —4x + 2 for an S LY Laall f(x) = —4x + 2 Al

initial value of x; = 5. Xo =5 s
-2,10,—-38 2
18,74,294 b
—18,74,—294 <

—22,90,—-358 d



Use the Binomial Theorem to write and find the coefficients of specified terms in binomial expansions 1

Find the fourth term of (y — 3x)°. (¥ —3%)° e bl sa
—405y*x? a
—540y3x3 b
270y3x3 e

540y2x* d



Which situation describes an

observational study?

sha) L bl gl lggals ) Al JSLial) wuas clouad) LT diayda a3
calslag JLERY) (g (raa Lilgde Liadd 50 gl .saLal Las)
A driving school wants to determine the main issue drivers face
while taking the driving test. They watch and record 50 random

people taking the test.

e (G5 pey g8 Gatwican ALY OIS 1Y) Le ddjpa i cilifpas jalia Aluadis 203
i ag! Cisbeass lsde (i35 200 (g B raliyy b AL

A national pet chain wants to know whether customers would pay a
small annual fee to participate in a rewards program. They randomly

select 200 customers and send them questionnaires.

c s ol Adlad gaa L) Aygd) A (gan) A
A pharmaceutical company wants to test whether a new medicine is

effective.

G B edndal laall 1adle Wajliae) o5 Jabadl) (ha Basly dSgana gl Ay slale o6
Lt 3lgs of it Ladle Jakil) (e 9T degans sl o
Scientists study the behavior of one group of cats given a new
heartworm treatment, and another group of cats given a false

treatment or placebo.

Sadnina dual)d Ciuas (o)) CaBgal) La

Classify study types 1



Which survey question is unbiased?

Which is your favorite soccer team, Barcelona or Real Madrid?

S el i cgie A (et iy e dia

How long have you lived at your current address?

fdaalaall Ao (553 o cas cdupdal) Clana) Jia agacd) o3 of sd3 Ja
Do you think that poisons, such as pesticides, should be sprayed

on crops?

Al ) agalad wic Jlall CMUAL L)) Aadje aai ashs gy

Don’t you agree that students should carpool to school?

Seolaiu) & jaadal) j& ) Le

Design statistical studies 1



Use the shapes of distributions to select appropriate statistics 1

Which of the following charts is CJilale pujgh 3 A0 clabia) e 4

Symmetrical skewed?

30 40 50 60 70 80

O b
30 40 50 60 70 80

O <
30 40 50 60 70 80

O d




Which of the following is a
characteristic of a negatively skewed

distribution?

Jugial) s e clib) e o

The majority of the data are on the left of the mean.

gl a8 aaugiall

The mean is less than the median.

(s lashacia sty Jraagial

The mean and median are approximately equal.

gl e sl baagial

The mean is greater than the median.

Use the shapes of distributions to select appropriate statistics 1

sad gile st algd (onf Jiad b Laa
¢ s



Construct a probability distribution 1

Which random variable is Slaiie Wigde fade 2 Asds e ol

a discrete random variable?

Josandl 31 0¥ Gl a0

The number of hits for the players of a baseball team.

calgal) dlghy B dad) Gl \giaksd ) d8Lusal)

b
The distances traveled by the tee shots in a golf tournament.
A jal) A agagal) cilijgall 03
.C
The weight of animals on a farm.
g aall as) A UadY) Jgha lake
d

The amount of precipitation in a city per month.



10

1.51

1.81

The probability distribution lists the
probable number of school plays per
year at school. Determine the
expected number of productions per

year.

Number of Productions Per Year

Probability

Analyze a probability distribution and its summary statistics 1

dataall sanlls Latld Jlaia¥) auj i) geiags
sl ddl Bala (B Al JS) pdd) il Aty

SHpla) o aBgiall amml) sas diijte DU

PSP A




32.5%

42.5%

77.5%

22.5%

According to a recent survey, 25%
of seniors in high school think
graduation is the most important
event of the school year.

What is the probability that 3 out of
15 random students in high school

will agree to this idea?

Dl (ha 25% A ()h e @Ai g3t L’,ﬁ
zA Jia of Lugillh Lugaall B 5,A9) Al
ol alal) 3 Gisa el g

Ll 15 JS e oD 3 38lg of Jlais) L
Bl Al e gl Ausyaal) b Lilpde

Find probabilities using binomial distributions 1



11
16

A family has 4 children. Assume

that when a child is born, there is a

509% chance that the child is female.

What is the probability that the

family has at least 3 daughters?

Jaha By wie of (apait . Jlall 4 Lgaal Byl
aglsal) 06S of 50% dads Lajp 2a g
o @l 3 5l al of Jlaal LA
ACM|

Find probabilities using binomial distributions 1



Find area under normal distribution curves 1

In a normal distribution with mean P =43 hugl g3 bl ajall A

1 = 43 and standard deviation Z 4ad Lo 0 = 3.7 glaal) GalaiNg

o =3.7 whatis z if X = 527 X = 52 sy
z=1.75 a
z=2.97 b
z=2.34 <

Zz=2.43 d



16%

84%

68%

34%

The average wait in line for the
16,000 daily passengers of a roller
coaster is 72 minutes with a standard
deviation of 15 minutes. Assume that
the data are normally distributed.
What percentage of passengers wait
more than 87 minutes to ride the roller

coaster?

2.35% 2.35%
> 1 13.5% <
p—3c p—20 u—o I p+o p+20 p+do

Annormal distribution with mean g and standard deviation o

Find probabilities for normal distributions, and find data values given probabilities 1

asml jUadl) ) SUATH CBg Jagia

S5l agd) & adlal Uil )y 16,000
4883 15 (golow (glma Cilails 4380 72
Lo - L oy dejga libul) of (ayd)
ST Qg B cpdl) Gl sl dgtal) ducddl
oAl jUs Cig<)l 288 87 (e

u—30 p—20 p—oc p p+o u+20 p+3o
O il B0 ¥ly o daugl) (53 e dal) agjaell



